
Sort out the words: 

TEETH        CASTLE         BRIDGE        SUNNY          BIG BEN        SHARK      RAINING 

 

It is  ____________________ .   

Jessica is standing on a __________________  in London.   

______________________ is ringing. 

 

 

It is ____________________ .  

Greg is riding a big ___________________ . 

It has got big _____________________ . 

 

Elliot is visiting an old ____________________    with his family. 

 

 

 

 



Write:       I am     I’m not 

 

 Look at me. I am not  drinking milk.  _______ drinking tea. 

  Look at me. ________  swimming.  _______ swinging. 

 Look at me. ________  building a house.  _______ building an igloo. 

    Look at me. ________  roller-skating.  _______ riding a bike. 

 

  Look at me. ________  swimming.  _______ swinging. 

   Look at me. ________  roller-skating.  _______ riding a bike. 

 

 

 

 

Your  teacher Marina 


